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Poin{ - Slope Form

You can also find the equation of a line if you are given a point and
the slope of the line. In order to do this you use the formula:

You need a
slolpe -Point & a SIOpe

(x 'x ) Y ol
§ ety
(x\
The x and y Values from the given point

This equation can be rearranged
o y=mx+b
(slope intercept)
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Example 1: X
Find the equation of a line that passes through @ nd has the same

2.
slope as y =9x :\ -
Write what you know:
X, 2 ‘
m= (-3.4)

y-yi=m (x-x1)
y - 4=3(x(8))

y-4=3(x+3) Point Slope Form
y-4=3x+9
y-4+4=3x+9+4

y=3x+13 Slope Intercept Form
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Q  Point slope form.docx



Worksheet 

Point Slope Form







1) Find the equation of a line that passes through the points (-1,8) and has a slope of 2.  





2) Find the equation of a line that passes through the points (6,-3) and has a slope of m=4.  





3) Find the equation of the straight line that has slope m = ¾ and passes through the point (–1, –6).





4) Find the equation of a line that passes through (-1,1) and has the same slope as y = -3x + 4.





5) Find the equation of a line that passes through (-7,3) and has the same slope as y = 2x + 1.





6) Find the equation of a line that passes through the points (3,-2) and (-4,1)





7) Find the equation of a line that passes through the points (3,-2) and (-4,1)





8) Find the equation of a line that has the same x-intercept as this equation   2x +6 = 3y, and also passes through the point (4,5).
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